ENGR-2060

E.M. - DYNAMICS

NAME DATE

WEEK: PROBLEM:

GIVEN:

In terms of a particular reference
frame, the position of the center of mass of the F-14
at the time shown (r =0) is r = 10i + 6j + 22k (m).
The velocity fromr =0tor=4sis v= (524 06ni+
(12 417)j — (4 4+ 27)k (m/s). What is the position of
the center of mass of the plane at t = 4 s?

REQUIRED:

SOLUTION:

Ip=10i+6j+22k m

v =(32+61)i+ (12+ 1*)j — (4 + 27 )k mis
- 1

.\’4:] ve dt =321 +31° +xp
[+]

¥y =1(32)(4) +3(4* + 10 m = 266.0 m
4

_\u:f vydt =126+ 3/3 + o
[+]

=124+ @#*/3+6m=753m
4

s =f vedt = —(4 + 28773 + 20
]

=—44)-24PB3+2=-36Tm

Ili—ts = 2660 + 75.3j — 36.7k {m)
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